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Agronomy, Paper-Ii
Final Answer key

Series A Series B Series C Series D ANSWER Remarks
KEY
1 21 41 81 A
2 22 42 82 B
3 23 43 83 C
4 24 44 84 D The setter's answer is
option 'A' but correct
answer is option 'D'".

As the sugarcane set
required for planting one
ha. of land is 35000 -
40000, mentioned in all
recommended standard
books

5 25 45 85 B

6 26 46 86 C

7 27 47 87 C

8 28 48 88 A

9 29 49 89 C

10 30 50 90 D

11 31 51 91 A No Change.
As the Scientific name of
Barnyard Millet ‘Sawan’ is
Echinocloa  frumentacea
While Jowar is Scientifically
Known as Sorghum
bicolor.

12 32 52 92 B

13 33 53 93 D

14 34 54 94 B

15 35 55 95 D

16 36 56 96 C

17 37 57 97 A

18 38 58 98 D

19 39 59 99 C

20 40 60 100 C

21 41 61 1 B

22 42 62 2 A

23 43 63 3 D

24 44 64 4 C

25 45 65 5 D

26 46 66 6 C

27 47 67 7 D




Series A Series B Series C Series D ANSWER Remarks
KEY

28 48 68 8 C

29 49 69 9 B

30 50 70 10 A

31 51 71 11 A

32 52 72 12 C

33 53 73 13 B

34 54 74 14 D

35 55 75 15 A

36 56 76 16 C

37 57 77 17 D

38 58 78 18 A

39 59 79 19 B

40 60 80 20 A

41 61 81 21 C

42 62 82 22 D

43 63 83 23 A

44 64 84 24 D No Change.
As per the “Fundamentals
of Agriculture” written by
Arun Katyayni the High salt
tolerant crops are Rice,
Sugarcane and Oats.

45 65 85 25 B

46 66 86 26 D

47 67 87 27 A

48 68 88 28 A

49 69 89 29 D

50 70 90 30 A

51 71 91 31 C

52 72 92 32 B

53 73 93 33 D

54 74 94 34 D

55 75 95 35 A

56 76 96 36 C

57 77 97 37 B

58 78 98 38 Deleted

59 79 99 39 B

60 80 100 40 A

61 81 1 41 C

62 82 2 42 D

63 83 3 43 B

64 84 4 44 B

65 85 5 45 B

66 86 6 46 B
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KEY
67 87 7 47 D
68 88 8 48 A
69 89 9 49 A
70 90 10 50 C
71 91 11 51 B The setter's answer is
option 'D' but correct
answer is option 'B'.

Many Standard books
have mentioned that the
nursery area for tobacco
cultivation is 100 m®.

72 92 12 52 B
73 93 13 53 A
74 94 14 54 A
75 95 15 55 C
76 96 16 56 B
77 97 17 57 C
78 98 18 58 C
79 99 19 59 A
80 100 20 60 C
81 1 21 61 B
82 2 22 62 B
83 3 23 63 A
84 4 24 64 C
85 5 25 65 B
86 6 26 66 A
87 7 27 67 A
88 8 28 68 B
89 9 29 69 C
90 10 30 70 D
91 11 31 71 D The setter's answer is
option 'A" but correct
answer is option 'D".

As the option ‘all of the
above’ is given and biogas
includes Methane, Co,,
Nitrous oxide. So all of the
above option will be
correct.

92 12 32 72 A
93 13 33 73 A
94 14 34 74 A
95 15 35 75 D
96 16 36 76 A
97 17 37 77 B
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98 18 38 78 D
99 19 39 79 A
100 20 40 80 C




